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COMMERCE
(“General/ Speciality )
Course : 401
( Cost Accounting )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
U for the questions

i 1. (@) Fill in the blanks : 1x5=5

() LIFO method is suitable in times
of —— prices.

(ii)  Material control aims at achieving
effective material ——.

(i) Cost audit is concerned with the
—— of Cost Accounts.

(iv) When actual loss is more than
the estimated loss, then the
w difference is considered to be ——.

} (v) Depreciation is —— expenses in
‘ cost. : -



(2)
(3)

(b) Select the appropriate answer for each
of the following questions : 1x3=3 2. Write shert notes on (any four) : 4x4=16
. GX4=

(i Which of the following is not a (@) ABC analysis

method of ing?
of costing (b) Merit rating

(1) Contract Costing |

(c). 1dle time

(2) Operating Costing
. (d)_Time and motion stud

(3) Batch Costing udy

(4) Marginal Costing (e) Job card
(i) Specify the method of costing 3 8. (a) Define costing. Discuss the essentials of

suitable to a toy-making unit an Ideal Cost Accounting System. 41812
(1) Process Costing -

‘ Or
(2) Operating Costing )

‘ (b) Following detai
(3) Batch Costing c g etalls. relate to ATEACO Ltd.

or the year ending 31.03.2013 :

(4) Multiple Operating Costing
01.04.2012 31.03.2013

Units (4 Units [ 4

(iij) In which of the following contracts Stock i
) A . of Raw Mat
Contract Costing is @applied as a e aterials 18000 12,000 800 10,000
o . -1n- SS 00 16,000 1000 20,000
em .of Job Costing? ’ ’
specialized syst g Stock of Finished Goods 6000 — 10000 —

(1) Short-term contract
Expenses during the year : ‘ 4
Direct Wages 6,00,000
ium=-term contract ,00,
(3) Mediungg Purchase of Raw Materials (97000 units) 11,14,000
Other Materials ' " 36,000

(2) Long-term contract

(4) Continuous processes



(4)

Carriage Inward
Carriage Outward
Wages to Foremen

R & D Expenses

Other Wages
Manager’s Salary
Employees’ State Insurance
Power and Fuel

Office Expenses
Printing and Stationery
Counting House Salary
Sale of Scraps

Income Tax

Donation to Charity

Selling and Distribution expenses & 1 per unit

T
5,640
3,000
48,000
30,000
6,000
72,000
6,000
54,000
36,000
12,000
12,000
1,640
22,000
5,000

Units manufactured during the year are 96000

Finished stock is valued at current cost

Prepare Cost Sheet

following :

(i) Materials consumed

(i) Prime cost

(iii) Factory cost

(iv) Cost of production
(v) Cost of goods sold

‘(vi) Total cost of sales

the

2x6=12

4,

(@) Sunshine

below :

(8)

Electronics manufactures
picture tubes for TV. Details of their
operation during the year are given

Average monthly market

demand—2000 tubes

Ordering cost—¥ 100 per order
Inventory carrying cost—

20% per annum

Cost of tubes—F 500 per tube
Normal usage—100 tubes per week
Minimum usage—50 tubes per week
Maximum usage—200 tubes per week
Lead time to supply—6 to 8 weeks

() Compute economic order quantity.
If the supplier is willing to supply
quarterly 1500 units at a discount
of 5%, is it worth accepting

(i) Compute the following :

1.
2.
3.

Maximum level of stock
Minimum level of stock

Reorder level

Or

2x3=6

(b) What do you mean by material control?
Discuss its objectives.

4+7=11



(6)

S. (@) A workman has taken 15 hours in

6.

®)

(@)

performing a job. The standard hours
fixed for the job are 20 hours. He is paid
hourly payment @ & 4. He is allowed
to be paid 40% of the time saved.
In addition, he also gets a dearness
allowance of & 2 a day of 8 hours.
Calculate his total earnings under—

(i) Halsey Premium Plan;
(i) Rawan Premium Plan.

Or

What do you mean by labour turnover?
What steps should be taken to check the
increasing rate of labour turnover?
Discuss.

Assam Engineering Works has three
production departments A, B, C and.one
service department S.

From the following particulars, calculate
labour hour rate for each of the
production departments. Expenses for
the period of 12 months :

g
Rent 36,000
Power 8,250
Indirect Wages 5,200
Depreciation on Machinery 22,000
Electricity 5,600
Canteen Expenses 6,500

Sa+5%=11

4+7=11

11

(7))
Additional Information -
A B € S
Light points 7 7 9 5
Floor space (sq. m) ~ 300 250 450 200
Horsepower of machine (HP) 65 30 30 40
No. of workers 2 3 6 2

Direct wages (in ©)

Cost of machine (in &)

12,000 14,000 18,000 8,000
50,000 60,000 80,000 10,000

Working days—200 days of 8 hours each

(b)

Service rendered by service department
S to production departments A, Band C
are 30%, 20% and 50% respectively.

Or

Define overhead. How are overheads
classified? State four reasons of over-
absorption or underabsorption  of
overheads. 2+5+4=11

From the following particulars, prepare
Contract Account for the year ended on

31st December, 2013 : 11
e
Materials sent to site 1,90,000
Wages paid 1,20,000
Wages outstanding 5,500
Direct expenses 60,000
52,000 -

Establishment charges



(8)

4

Special plant installed at cost 2,00,000
Cost of work not certified 25,000
Value of special plant on 31.12.2013 1,70,000
Materials at site on 31.12.2013 21,000
Total contract price 12,00,000
Cash received 5,94,000
Retention—10% of work certified

Sale of scrap 2,000

(b)

General plant costing & 1,20,000 was
used for 3 months, depreciation on that
is to be provided at 15% p.a.

Or

What do you mean by ‘Cost Audit’ and
‘Cost Management’? Discuss o the
functions of a Cost Auditor. 3+3+5=11

1.

(9

(a) <N o1 *@q 4 : 1x5=5

(9
(i)

(i)
(iv)

)

LIFO %% @Iz —— s Soga |
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R ——

T f2B1et ~R I E® BorR —— |

s weols age we wie 2
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(b) RS PR TR Taq Al Sfiea . 1x3=3

(i

(@
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(3) cags e

4) qfe5eret SeATCaits FEt



( 10)

(if) SR FARY TG CFIS FAGF IMe
Rem ame w1 ik’ Boret aamt = 2
(1) ZFoR G
(2) TR G
(3) T FGE
(4) RRIES afm

2. v O forr (R e wif¥dy) - 4x4=16
(@) ABC Ressa
(b) 1 fAefy
(c) = 7y
(d) 3T S S5 AL SFE
(e) FHg

3. (@) 9 M9 RBorrR e g Rk a3 s
THSF ACAGAT CoAPZ WA 1 4+8=12

M

(b) oo foal ©pTyR @b’ Bfiches gl wE, 2013
SIS &3 41 9] :

01.04.2012 31.03.2013
oG 4 eI 4

TGS (61 AN 1000 12,000 800 10,000
opeyef T 800.16,000 1000 20,000
TS Terlfirs AE 6000 — 10000 —

(11

TRACGA. T
ST TG

- CF51 TR @ (97000 (515)

ST AN

R AT
RIE RIR e S I
FE TR
IR S Tzey I
S Y]

RS EEREPEY
TR e
& IF 2
Frfer 3

2l W TR

A I N
e AR Rt @
T

IAGT T4

R&E o Rega a0 & 1 =S conlb Rowent
IS Jp Teofifre TR A 96000 (A1

Tertifire Tege AN s JATPIR e =
Y @ 4% I TSR (e :

() TIZS (O A
(i) AW 37

(iii) LA T

(iv) T T

) R& R
(i) AR T R

4
6,00,000
11,14,000
36,000
5,640
3,000
48,000
30,000
6,000
72,000
6,000
54,000
36,000
12,000
12,000
1,640
22,000
5,000

2x6=12



(12 )

4. (a) SFORY XEIR® TV Picture Tube ¥

fear 247 .

TS WA I59 51%M—2000 tubes
TR e—F 100 per order

Te© AN ARt I_—20% per annum
o7 7y Ie—F 500 per tube

SR IR_YI—100 tubes per week
fAgew TrEE—s0 tubes per week
BT IRZR—200 tubes per week
QIR SEHA—6 to 8 weeks

Wlmﬁn@@mm-wwoﬁﬁzmm

() AT SR @RADH e 91w
Q@RI fo =T q@ I 1500
units 5% 3IMGre @M Mla 3/ @A,
SYICO! 2AZACNN T ?

(i) @S AR S 4
1. Yoo TaR e 27
2. O AN fwoy +7
3. fRertr oA

CIES

(b) A fRE ewE R Iw? WR SR

4+7=11 |

SICETo= 4T |

2x3=6

5. (a)

(b)

( 137)

e ACE 9B W IR 15 987 vy o |
E@Wﬂ“"ﬁﬂﬁﬁﬁﬁﬁ@mmzoq®|
HAFE AT 4 T TR o | wfigee
AR T R 40% T of¥enew w0
= O 8 B a@m wffEe A
e 2 5 Wi 35 o FRI—

@) e ARy em
(ii) IR AN o

TS (963 I3 S R 23, Fefy 7 |
5%+5%=11

iz

AR oA W [ e 1w s
e 2R AfSra@ AR B oomewd gz w9
oS 7 SACES 4 | 4+7=11

P gl 969 fOfD Tesmm fRet—A,
B, CH® <bi ¢l Rt S g |

TR SIPHRA R AOF SRl RS

(T SR @ Fef 911 12 W12 W - ki
¢
o ' 36,000
ﬁ 8,250
R 5,200
T oo S o
fege 6,500

@5 IW



(14 )

|
IRRE TP - |
A B e S ’l
R e Ry 7 7 9 5
R fRM (2 o) 300 250 450 200 |
TH e (HP) 65 30 30 40 E
=R =Am 2 3 6 2
AT TGN (in ) 12,000 14,000 18,000 8,000
TR o0 (in ?) 50,000 60,000 80,000 10,000 |

IR W—200 e 8 9T AT

G|l R ST 7@l Teoaww Rel A, B W% i
CCal CWl oAv=g Ste 9" 30%, 20% |
F 50%. !

2T
(b) TRARR e A SRR cRemE {
REE FW W2 Tifrm wfeies A z
SECZAS BIfRG! PR IR0 34 | 2+5+4=11 |
7. (@) wo© f@ ©wER oM@ 31 R, 2013 |
© @ (A TAGR AT S B ames
41 : 11,
4
FHCFGLA A (2R 1,90,000
TR 2 1,20,000
weATe T 5,500
Ao I 60,000
RO 52,000
Rers w@enfs wem (a2 ) 2,00,000

(15 )

afers :
I (1 3y 25,000

31.12.2013 mﬁwﬁmmﬁnw 1,70,000

31.12.2013%%@@%@ 21,000

T 3% 12,00,000

o 21y 5,94,000

REBR—erfe g wrez 10 S

Saiee e 2,000

¢ 1,20,000 MERER QIR ER EC i e
I =feE WF TR wewy wR 15% e 30
=

12

(b) T R R wF @ SRR IPea B
w7 au I RBo v IR SgEm
01 3+3+5=11

* kA



